BERENERER(THEY Y —) [Er24FE4 828~ 1 9BAIEN]

BT uSv/h
- N N s
hEEX @R | BT — 5T gse | 4BeB | 4818 | 4510

1cm 0.65 0.88 0.91 0.85 0.92
BiEaigrhn 50cm 0.56 0.52 0.57 0.53 0.54
— = . m 0.56 0.53 0.55 0.53 0.55
ERTHEY Y lcm 0.34 0.29 0.32 0.30 0.29
A CI5MEN 50cm 0.34 0.30 0.34 0.32 0.29
m 0.34 0.30 0.33 0.30 0.29
1cm 0.44 0.41 0.47 0.40 0.42
BiEighn 50cm 0.41 0.37 0.44 0.39 0.41
. . m 0.40 0.38 0.42 0.39 0.41
ARTH LY 5 icm 0.26 0.35 0.34 0.2 0.36
ACI5MEN 50cm 0.31 0.33 0.33 0.26 0.34
m 0.33 0.33 0.33 0.28 0.36
1cm 0.66 0.72 0.75 0.63 0.70
BiEighn 50cm 0.66 0.36 0.41 0.36 0.33
e . m 0.34 0.37 0.32 0.36 0.32
TIRTHEY Y Tom 0.16 0.17 0.15 0.16 0.15
ACI5MEN 50cm 0.15 0.18 0.17 0.18 0.15
m 0.15 0.17 0.15 0.18 0.13
1cm 0.35 0.33 0.39 0.30 0.33
BieEaighn 50cm 0.38 0.31 0.33 0.30 0.31
e . m 0.42 0.31 0.34 0.29 0.28
=RETHEY Y Tom 0.15 0.17 0.13 0.17 0.19
ACISMEN 50cm 0.26 0.23 0.19 0.23 0.22
m 0.31 0.25 0.27 0.26 0.31
1cm 0.42 0.42 0.44 0.43 0.40
BieEaighn 50cm 0.42 0.42 0.44 0.37 0.41
sz = . m 0.46 0.47 0.47 0.36 0.43
ERTHEY Y Tom 0.26 0.33 0.32 0.31 0.24
A CI5MEN 50cm 0.26 0.36 0.34 0.33 0.25
m 0.26 0.38 0.33 0.35 0.25
1cm 0.63 0.56 0.57 0.55 0.62
BieEighn 50cm 0.62 0.57 0.59 0.58 0.54
= < s m 0.58 0.47 0.51 0.49 0.58
AREEE S lcm 0.26 0.23 0.24 0.25 0.26
A CI5MEN 50cm 0.24 0.25 0.23 0.25 0.23
m 0.25 0.27 0.24 0.25 0.24
1cm 0.69 0.57 0.59 0.63 0.48
BieEighn 50cm 0.61 0.73 0.52 0.65 0.48
e . m 0.66 0.65 0.55 0.65 0.52
SABTHEEY Y Tom 0.26 0.27 0.27 0.25 0.27
ACISMEN 50cm 0.32 0.28 0.27 0.27 0.29
m 0.37 0.28 0.33 0.27 0.28
1cm 0.74 0.74 0.77 0.80 0.80
BiEighn 50cm 0.74 0.76 0.76 0.84 0.81
— . m 0.77 0.79 0.75 0.93 0.83
BAETHEY Y Tom 0.38 0.37 0.42 0.41 0.31
A CI5MEN 50cm 0.39 0.36 0.43 0.41 0.35
m 0.39 0.36 0.44 0.41 0.42
1cm 0.89 0.90 0.90 0.73 0.92
BieEighn 50cm 0.83 0.83 0.85 0.71 0.89
— e . m 0.76 0.72 0.84 0.66 0.89
EALGREY Y — Tom 0.25 0.23 0.21 0.22 0.25
A CI5MEN 50cm 0.25 0.23 0.21 0.22 0.24
m 0.25 0.24 0.21 0.21 0.25
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BT uSv/h
- N N s

iz @R | N8BS — 5T gsa | 4BeB | 4818 | 451H
1cm 0.07 0.08 0.08 0.08 0.08
BieEighn 50cm 0.08 0.08 0.08 0.08 0.08
b = . m 0.08 0.08 0.08 0.08 0.08
MFTRE Y Y lcm 0.08 0.08 0.08 0.08 0.08
ACI5MEN 50cm 0.08 0.08 0.08 0.08 0.08
m 0.08 0.08 0.08 0.08 0.08
1cm 0.28 0.25 0.22 0.23 0.26
BieEighn 50cm 0.27 0.25 0.26 0.22 0.24
I . m 0.23 0.21 0.18 0.21 0.19
RBTHEY Y Tom 0.29 0.2 0.20 0.19 0.21
A CI5MEN 50cm 0.23 0.21 0.22 0.21 0.20
m 0.27 0.24 0.23 0.26 0.21
1cm 0.46 0.38 0.36 0.38 0.36
BieEaighn 50cm 0.39 0.37 0.34 0.36 0.34
= . m 0.37 0.37 0.34 0.35 0.34
ERTEREY S 1cm 0.27 0.26 0.27 0.26 0.27
ACI5MEN 50cm 0.27 0.26 0.27 0.26 0.27
m 0.27 0.26 0.27 0.26 0.27
1cm 0.39 0.47 0.36 0.35 0.35
BieEaighn 50cm 0.41 0.46 0.36 0.32 0.34
= . m 0.44 0.46 0.36 0.34 0.34
RHTHEY Y icm 0.47 0.55 0.3 0.51 0.41
A CI5MEN 50cm 0.41 0.53 0.33 0.39 0.37
m 0.41 0.51 0.32 0.37 0.31
1cm 0.21 0.19 0.17 0.25 0.19
BieEighn 50cm 0.21 0.18 0.17 0.25 0.19
= . m 0.21 0.18 0.16 0.25 0.19
PHETHEY Y Tom 0.20 0.17 0.19 0.11 0.20
A CI5MEN 50cm 0.20 0.17 0.18 0.11 0.20
m 0.20 0.17 0.18 0.11 0.20
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. Ilcm 0.77

EIEIZHR 50cm 0.53

== < o 1m 0.52

EEIEEHTI&‘EJQ Tom 03

A9l 50cm 0.32

Im 0.33

. Icm 0.51

EIEiZhR 50cm 0.46

= < o im 0.43

AT EV S Tor W

A9l 50cm 0.41

Im 0.38

. Ilcm 0.72

BIERIG R 50cm 0.39

Fa I N _ Im 0.33

ZRITHtEY Y Tor 0I5

A9l 50cm 0.17

Im 0.16

. Icm 0.26

BIERIG R 50cm 0.32

== A im 0.31

=HEHETHEtEY S Tor 015

A9l 50cm 0.21

Im 0.29

. 1cm 0.36

EIEIZHhR 50cm 0.37

s v 1m 0.42
323 E ~ —

EETHREVSY Tor E

A9l 50cm 0.24

Im 0.25

. 1cm 0.51

EIEiZhR 50cm 0.52

N = ~ . Im 0.51

FETBREY S Tor 01

A9l 50cm 0.23

Im 0.23

. 1cm 0.52

EIEiZHhR 50cm 0.46

= = < o 1m 0.48

SE2BTREY Y Tor 036

A9l 50cm 0.28

Im 0.37

. Icm 0.90

BIERIG R 50cm 0.90

= < im 0.90

HMHBE{TH®RtEY > o 0 3E

A9l 50cm 0.36

Im 0.36

. 1cm 0.86

BIERIG R 50cm 0.80

— L < o m 0.77

EEIRIJ.HTIE&‘EJQ Tom 023

A9l 50cm 0.25

Im 0.25
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5% BEER | AEEs ﬁ%fﬁ%
Ilcm 0.08
BieEaighnR 50cm 0.08
3 /= N Im 0.08
HETHREY Y o 08
A9l 50cm 0.08
m 0.08
Ilcm 0.22
BIERIG R 50cm 0.25
I . m 0.20
?HiBITREVY Ton Wil
A9l 50cm 0.22
Im 0.25
1cm 0.37
BiEighnR 50cm 0.36
4= . m 0.35
ATtV S Tor 038
A9l 50cm 0.27
Im 0.27
Icm 0.31
BieEighn 50cm 0.32
4= . m 0.30
BAlRfTEtEV S Tor T
A9l 50cm 0.41
Im 0.40
Icm 0.26
ISR 50cm 0.25
4= . m 0.25
FHTEEY S Tor o
A9l 50cm 0.12
Im 0.12




